Input format:

% nNodes =
\4 1] |H| | /]

%hdij = (x 1€V, jeV %)

di1,i1 dihiz s di17h1 s di17j1 S dil,jm
dim,il di\f\’ju\
dhl,il dhlJ\J\
dh\H\vil dh‘H‘7j‘J‘
djl,il djl,j\(]\
dju\,il dj\J\’j\J\

% aip = (xi € I,p € P*)

iy ,p1 o Qi1 ,pp|

Aijppr Q4yp),p P

% bjp = (xj € J,pe Px)

bjl,pl bth\P\
bju\,pl bj\J\,P\P\
% bjp is configured tight/non-tight (¢{/nt) =

% Kh = (xh € H%)
Kn, ... Ky,

% filename =
|I|-|H|-|J|(c/r)-t/nt-instancenumber . txt




Symbols

Symbol Denotes

|4 Set V=TUHUJ

1 Set of nodes representing supply points

H Set of nodes representing potential hubs

J Set of nodes representing delivery points

d;j Distance between nodes i and j (i,7 € V)

Qip Surplus of supply point ¢ € I of product p € P
bip Deficit of delivery point j € J of product p € P
K, Set of vehicles k € K assigned to hub h € H




